Parts List .«..x:

B 1N FL 4

Model: AD230KS-MP IS—YYRRI—F 523897






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R D HiHE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23ERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZFig XK SRBERTLTHYET . <D XX [FAFAM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeoeeeeeeseseseseseeeseeeseeeeeeeeeeee e 1~2
I (EE231/30)
IRy M2 Ry el QRERTLY 0. 3~6
RN e B 1 S BN 7~38
R AV T /3 =% 5y A 9~ 10

LR D =17 TSSO 11 ~ 12



1. AD230KS-MP
X K



RHEES | HaES B & 1 &% & =
1-1 364356 | AD230KS-MP 1
1-2 227923 | TUNIVY 1 | 7X1523L SP-18
1-3 227925 | K9V UNAhUIbA 1
1-4 215532 | fiv44=%") 1
1-5 054691 | YUhT9 9347 1 [ 6794
1-6 089738 | 6 YK ILb 1 | M5x15
1-7 215418 | nUNWMNYTATY 93487 1 [ 87494
1-8 092561 | 6 hY&'IWb (+)SW 6 | M5x25
1-9 228077 | ¥ ¥hr—-A9347 1 |10~ 16 744
1-10 234247 | 6 hhf Wb 1 | M8X8
1-11 092550 | 6 HYK Lk (+)SW 1 | M5x25-7T
1-12 212986 | NE/KRA 1
1-13 219195 | nE/K'AB 1
1-14 215610 | 6 h4H Wb WSW 1 | M8x22 t4)
1-15 222128 | ¥¥IFE YNy 1
1-16 222129 | 4YE' VY 1 | 5x20
1-17 089737 | 6 ol b 1 | M5x12
1-18 220549 | F1943—9 1
1-19 236421 | #=L7°L—} 1 | AD230KS-MP
1-20 231654 | NJI—=4 1 | ECO
1-21 235791 | nUNIL A TRA 1
1-22 235792 | AnUNIL B ThA 1
1-23 235778 | AL =934T (16) 1
1-24 236111 | 38" 1139 -743-9
1-25 235748 | ARYRMLIAY 1 |[810L1/O 755
1-26 220533 | AAhTNUN934T 1
1-27 222821 | Y ANAVAN-)34T 1 |287494
1-28 092561 | 6 H9# Wb (+)SW 2 | M5x25
1-29 227509 | FY7Y-9 1




oov
V3

T

2. AD230KS-MP
DL N

ARR|(AES|AZE
L | 9




RHES | BHRAES B & FR B % i
2-1 859535 | IYY'Y 1 | EE231/30
2-2 289639 | Yu& 1
2-3 289643 | HATYb 1 | T05
2-4 267290 | A%Ya 2 | M5x20
2-5 272744 | 4UY1L—4 1
2-6 267049 | H'AHYb 1
2-7 269826 | TAIRY ()WSW 2 | M5x25WSW #v4
2-8 289657 | ¥757tY7Y) 1
2-9 266402 | A%Y1 2 | M5x55
2-10 273262 | B AHFYb 1
-11 272528 | F7°hiN=3u77)—F 1
-12 289774 | %Y1 1
- 261878 | FYh 1
- 280144 | 4YEV3Y (+) 1 | 4x16
- 273674 | H5309h—-2 1
2-1 280488 | ATYUY 2 | PPL 6001
2-1 261492 | #ALY—I 1
2-1 261386 | A4LY—I 1
2-1 055185 | C h'4kiD 1 | H28
2-2 261612 | 6 h97FY%K Lk WSW 3 | M5x30
2-21 272204 | E'AbY 1
2-22 264891 | E'AMUY 2
2-23 261036 | E'ARUEY 1
2-24 263957 | Z—NILATYVY 1
2-25 261576 | ¥—=49Yv7’ 2
2-26 267193 | 47V99%72b3077)—b 1
2-27 269168 | 45VF7tU77) 1 128,29 7494
2-28 269169 | 479FY1 2
2-29 269173 | A7 vy’ 1
2-30 269647 | 45VFH b 2
2-31 269175 | 7VY¥ 2 | 6.1X15X1.6
2-32 261777 | 9I-779%% 2
2-33 272093 | 77UhN-TtU7Y C 1 |34~ 36744
2-34 282214 | 77UhnN - 1 | YIML—
2-35 289727 | 479FN 343077+ 1
2-36 014210 | C h'4kr7 1 |Ss10
2-37 269831 | TA1%Y (+)WSW 4 | M5x20WSW
2-38 282215 | 97’ 1
2-39 281169 | A%Y1 1
2-40 272066 | ¥4 RMFEVTT) 1 |41 ~ 47754
2-41 261356 | A—4% 1
2-42 272067 | 19 =9Y3AvA(NTEYTY 1 | 43 ~ 47754
2-43 267401 | 34l 1
2-44 272068 | 1-FT7tY7Y) 1 | 45 ~ 47 754
2-45 272069 | 1-F 1




oov
V3

T

2. AD230KS-MP
DL N

ARR|(AES|AZE
L | 9




RHE®EE | BAES B 5 5 R 1
2-46 261074 | 7739 %%v7° 1
2-47 261075 | 794 1
2-48 261076 | nuryE— 1
2-49 261417 | ¥3% ' 29%+Yk 1 | M8
2-50 280381 | AN—¥ 2
2-51 261256 | 6 h97TYEHK L WSW 2 | M4x25
2-52 286739 | AN=47°34° 1 | CJ6Y
2-53 269983 | AMYZ A4YFAVT -} 1
2-54 273519 | 7U8hin - 1
2-55 269827 | A%V (H)WSW 1 | M5X16
2-56 269705 | 3NN IBRE Y VR EVVEY
2-57 274191 | 387 1 | a94vFa94




3. AD230KS-MP I v
JaAIILRA—A




HaEs B A B W B i

288684 | JAMIWARI-4T71YT) 1 [2~10744
288685 | A4—4T7tU7) 1 |3~9744
288967 | -l 1

288968 | ANATNAT YUY 1

262922 | YR 1

288969 | A-7'7ty77) 1 |7~9794
288970 | A4—40-7° 1

261725 | A4—4)7° 1

283511 | A=7°AMUN 1

288971 | A4—47"-Y7tu7") 1

269833 | 7A'IRY (+)WSW 1 | M4x16WSW A4
280489 | A1y (+)WSW 2 | M4x20
274074 | 3N 1 | AD230KS-MP




oov
V7

4. AD230KS-MP T
FrILA, BHES

20

21

V&

S




RHEES | HaES B & 1 &% &
4-1 289878 | ¥¥7°L4T7EV7Y 1 [2~15744
4-2 274472 | KVIRTA 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 282576 | H'AHYb 1
4-10 289396 | ¥ IYh 1
4-11 261871 | Oy 1
4- 261876 | vy 1
4- 261658 | A4A')L 1
4- 264682 | A4Y1 2
4- 262996 | A%Y)1 4
4-1 261864 | H'AHYh 1
41 264691 | O Yy 1
41 266420 | 4)—FT7tV7) 1 |19~ 21744
4-1 264709 | HY—Fhn'— 1
4-2 266433 | T—A7tV7) 1
4-21 264695 | ILAVH 1
4-22 269834 | FTAI%Y (+)WSW 2 | M5x60WSW
4-23 273515 | 4u97+€77 1 |24~ 34794
4-24 273516 | 71-I)L4YY 1
4-25 281565 | 4v9%Y97°7tU77) 1 | 26794
4-26 269377 | "Ry 1
4-27 261696 | 7')—%"4347 1
4-28 265752 | #UYAUNATTEUT) 1 |29~ 34794
4-29 264031 | W47 9347 1 |30~ 32744
4-30 261115 | 4'0AYb 1
4-31 261690 | #)3AOINAT’ 1 | 160L
4-32 263038 | A—nN70-N47° 1
4-33 264653 | 7ANATEU7) 1
4-34 261117 | Y97’ 1
4-35 269828 | ARV (W 2 | M5x16W
4-36 281208 | ARy ()W 1 | M5x16W #9%
4-37 281007 | 3~ 1 | F3-9 04 _~1

-10-




5. AD230KS-MP

=0
AR

f+ &

-11-



HaES T 5 B % 1
5-1 221460 | K3 A% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE'RWHIAANT 1
5-4 219431 | 6 h9R AN 1 | ZAUnN 3
5-5 022865 | YIAVYFANT 1 | 8x10
5-6 236413 | M)7Yh4tYr43 1 | AD200A-MP %

-12-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

EIEREET Printed in japan 2014-08.J




